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Addition/Subtraction: Choose 
your challenge



17 - 9 =



18 - 4 + 9 =



36 - 19 + 8  =



2D shape
6 straight sides



All sides are the same lengths…



Calendar: 



Today is Thursday 21st January. I 
went to the park 4 days ago. What 



day did I go to the park?



Multiplication: Choose your challenge



2 x 2 =
9 x 5 =
6 x 3 =



Use arrays to help you.                            
For example,



4 x 3 = 12



4 rows of 3 goats



Finish the pattern:



10, 20, ?, ?, 50, ?, 70, ?, ?



15, 18, ?, 24, ?, ?



75, 73, ?, 69, ?, ?, 63, ? 



Shape: guess the shape.
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